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Teacher’ s Worksheet

(a) Describe the trends in obesity shown in Source A and suggest the public health risk
that might arise from the trends. Explain your answer.
(4 marks)



There is an increase in the obesity rate for both boys and girls. The overall
obesity rate of Hong Kong primary students increased from 16.4% from
1997-98 to 20.9% in 2011-2012 which had been increased by one-fourth. The
obesity rate of boys increased from 19.4% in 1997-98 to 25.6% in 2011-2012
and the obesity rate of girls increased from 13.3% in 1997-98 to 15.9% in
2011-12. Each got an increase by 30% and 20% respectively.

Obesity may have a negative effect on health, leading to reduced life
expectancy and increases the likelihood of various diseases such as heart

disease, diabetes. This will worsen the medical burden of Hong Kong.

Mark ranges

Suggested marking guideline Marks
The candidate:
® identifies and clearly describes the trends of obesity rate in Hong Kong as 4
reflected in Source A, e.g. an increase in the obesity rate for both boys and girls
etc. with the support of data;
® explains clearly and logically the public health risk as deduced from Source A,
e.g. obesity may have a negative effect on health, leading to reduced life
expectancy and increases the likelihood of various diseases such as heart
disease, diabetes. This will worsen the medical burden of Hong Kong etc.
® provides a well-structured and clear elaboration
® identifies the trends but describes briefly with the source 2-3
® identifies the public health risk from Source A, but does not explain fully or with
sufficient clarity
® Describes briefly some of the figures, but some of the descriptions may not be 1
correct
® does not identify any public health risk and the explanation is too partial, and may
not draw a relationship with the source
® makes no attempt to answer the question 0
® gives an answer which is not relevant to the question

(b) Identify and explain TWO causes of obesity suggested in Source B.

(4 marks)




The first cause of obesity as suggested in Source B is the change in eating
habits brought about by the spread of fast food culture. According to Source
B, the boy is eating hamburger, pizza, popcorn and having soft drink. These
are all junk food which are high-fat, high-calorie, high-sugar. Eating too
much fatty junk food may would have excessive amount of fat gain and leads to
overweight or obesity.

The second cause of obesity is the lack of exercise due to a more sedentary
life-style resulting from easy access to non-active technology-based
entertainment, such as surfing the internet. According to Source B, the boy is
sitting in front of a computer and surfing the internet. He just sit there and
does not need to move around for a long time.  And he may not have time to go
out and have some physical exercises. Exercising burns calories. Lack of
exercise may decrease metabolism so that calories could not be burnt

effectively. People would put on weight easily.

Mark ranges 1 2-3 4

Suggested marking guideline

Marks

The candidate:

identifies and explain clearly and in detail two valid causes for obesity suggested in
Source B. Causes could include: changes in eating habits brought about by the
spread of fast food; lack of exercise due to a more sedentary life-style resulting
from easy access to non-active technology-based entertainment, etc.

provides a well-structured and in-depth explanation

identifies two valid causes for obesity suggested in Source B but does not explain
fully; or identifies and explains fully one valid cause for obesity suggested in
Source B

2-3

identifies or attempts to explain one valid cause for obesity, but may not be all
correct / relevant; or identifies one or two valid causes for obesity but makes no

attempt to explain

fails to identify any causes for obesity / makes no attempt to answer the question

gives an answer which is not relevant to the question




(c) Why would the consumers be attracted to consume the products after seeing

the TV advertisements shown in Source C? (4 marks)

The reason is the projection of a healthy image by highlighting the nutritious
value of the product. According to Source C1, the candy was said to contain 7
vitamins. Vitamins are good for health. By highlighting the nutritious value
of the candy would make people willing to buy the product because of the desire
to have good health. Moreover, fruity taste would make the consumers think
of relating the candy with fruits which is also good for health. The consumers

might overlook the high in sugar content of the product.

The desire to strengthen parent-child relationship is another reason for the
consumer to give patronage to the restaurant as shown in Source C2.
According to C2, the restaurant is a fast-food restaurant selling fatty food such
as hamburgers and French fries. But the advertisement highlighted it is a
place for family gathering. It is common for people, especially the parents, to
have a desire to build up good parent-child relationship and share happy time
together. So the consumers would be willing to visit the restaurant as they

believe that they could have fun with their family members.

Mark ranges 1 2-3 4

Suggested marking guideline Marks

The candidate:

® Explains clearly and in detail why the consumers be attracted to consume the
products with reference to the sources, e.g. the projection of a healthy image by
highlighting the nutritious value; the strengthening of parent-child relationship

® provides a well-structured and in-depth explanation

® identifies why consumers be attracted to consume the products with reference to

the sources but does not explain fully or with sufficient clarity

® fails to point out the reasons / makes no attempt to answer the question

® gives an answer which is not relevant to the question




(d) With reference to the sources provided and your own knowledge, to what
extent do you agree that the Hong Kong government should ban junk food
advertisement from airing on TV by legislation? Justify your stance. (8 marks)
Points in support of the ban:
< Necessity: obesity problem is getting more serious which create health risk

and public health risk

According to Source A, Hong Kong the obesity problem of students in
Hong Kong is getting serious in recent years. There is an increase in the
obesity rate for both boys and girls. The overall obesity rate of Hong
Kong primary students increased from 16.4% from 1997-98 to 20.9% in
2011-2012 which had been increased by one-fourth.

Obesity in young age would cause health problem, leading to the increases
of the likelihood of various chronic diseases such as heart disease,

diabetes. This will create burden on the medical service of Hong Kong.

< Effectiveness: some parents may have low health literacy or media literacy.
They may be susceptible to the influence of TV advertisement.
According to Source D, about 30% of people would have the desire to buy
the product when they saw the advertisement. According to Source C, the
TV advertisements are usually attractive and consumers may overlook the
hidden negative impact on health due to their low media literacy.
Legislation has binding force. Banning the advertisement from airing on
TV would prevent the consumers from seeing the advertisement and there
would be no way to trigger their desire to buy the products which may
cause harm to health.

< Feasibility: may model on the experience of South Korea or other countries
According to Source D, South Korea had already introduce similar ban
which showed that it is feasible to do so. Hong Kong may study the
experience of South Korea and adapt the way of having the legislation
with reference to the situation of Hong Kong. Someone may say that it is
not easy to define junk food as shown in Source D, but it is reasonable to
make reference to the standard of the WHO about the definition of junk
food.

Points against the ban:
< Necessity: the main cause of obesity is lack of physical exercise



Although the obesity problem of Hong Kong young people is getting serious,
but the root cause is due to the lack of physical exercise. As reflected in
Source B, Hong Kong young people is having more sedentary life-style
resulting from easy access to non-active technology-based entertainment,
such as surfing the internet. Calories cannot be burnt effectively.
According to Source A, there is a drop in obesity rate from 2009-10 to
2011-12. So it is not necessary to introduce the ban. Moreover, after
banning junk food advertisement, people could still gain weight if they ate
too much food that contain quite fatty food. These food may not be
categorized as junk food. According to Source D, fostering the health of
children is the responsibility of the parents. Enhancing health literacy and
media literacy of parents should be prioritized. It is not necessary to
introduce the ban but rather, it is necessary to raise the health and media
literacy of the parents and the young people so that they could make a smart
informed choices with regard to the food.

Effectiveness: TV no longer popular among young people in Hong Kong
and banning TV advertisement doesn’t mean banning the advertisements on
other media

Some studies have indicated that Hong Kong young people are spending
less and less time on TV. They have less chance to see the TV
advertisement.  So banning TV advertisement may not be an effective way
to address to the problem. As shown in Source B, Hong Kong young
people are spending more time on other media such as internet. So
banning TV advertisement could not prevent them from accessing junk food
promotion on other media which is becoming more popular than TV.
Feasibility: it is difficult to define what is junk food

Legislation requires clear standard. According to Source D, junk food is
not easy to define. It would create difficulty in making the legislation.
For example, the ban is applicable to food containing more than 15% fat.
Then how about food containing 14.8% fat? Opposition from related
business can be predicted which may cause obstacle to legislation.

Mark ranges 1-2 34 5-6 7-8

Suggested marking guideline

Marks

The candidate:




® presents his/her stance clearly and consistently 7-8
® explains and justifies clearly and logically the extent to which he/she agrees that
the government should ban junk food advertisement from airing on TV through
legislation in view of the current situation of Hong Kong; draws appropriate
concepts (e.g. legislation, public health, non-intervention); formulates his/her
arguments on the basis of a detailed and critical evaluation with regard to
different justifications for and against the ban, e.g.
Points in support of the ban:
< necessity: obesity problem is getting more serious which create health risk
and public health risk
<> effectiveness: some parents may have low health literacy or media literacy.
They may be susceptible to the influence of TV advertisement. Legislation
has binding force.
< feasibility: model on the experience of South Korea; may make reference to
the standard of the WHO about the definition of junk food
Points against the ban:
<> necessity: the main cause of obesity is lack of physical exercise
<~ effectiveness: TV no longer popular among the children; banning TV
advertisement doesn’t mean banning on other media
< feasibility: difficult to define what is junk food; opposition from related
business
® provides a well-structured, in-depth discussion, demonstrating a high level of
critical analysis
® presents his/her stance consistently 5-6
® justifies his/her position with regard to the ban through legislation, drawing on
much of the relevant evidence from the sources and his/her knowledge, but may
not fully utilize it for supporting the arguments and may provide a slightly limited
discussion on the issue; shows an understanding of the relevant knowledge and
concepts and an ability to apply them where appropriate
® provides a well-structured discussion, demonstrating some evidence of critical
analysis, though might lack detail in parts
® presents his/her stance, but possibly with insufficient clarity 3-4

® attempts to justify his/her position with regard to the ban through legislation by
drawing on some of the evidence from the sources and his/her knowledge, but
the argument lacks clarity/consistency and some of the evidence might be
irrelevant or used inappropriately; tends to explain the pros or cons of the ban

generally and does not provide sufficient depth and detail; shows partial




understanding of the issue or is only able to apply relevant knowledge and
concepts in a basic way
provides a somewhat shallow and poorly structured discussion, and does not

always articulate his/her ideas clearly

presents no clear stance and may put forward contradiction arguments

points out some pros and /or cons of junk food; attempts to indicate his/her
position but makes limited/inappropriate use of information from the sources and
his/her knowledge; may not attempt to explain with reference to the sources; the
argument tends to vague and partial, e.g. explaining with a wrong concept
legislation/public health, using irrelevant/inappropriate examples/information for
illustration

gives a superficial answer with little organization/without focus; expresses his/her

ideas vaguely

1-2

makes no attempt to answer the question

gives an answer which is not relevant to the question




